. E—SEmER (E+HtEETAER)
BTN XEHEE

(E) ¥rk 29 #£ 3 H 31 H

HEREENSAX S
(B) ¥k 284 4 H 1A

#HEEEASE BEY) X FEHERUER

(i ; 1)
HhEF B TH(A) RE® |[ZEW-B®) B

- REFRFENA 102,973, 000| 103, 525, 426  /A552, 426
" I S DRLEEL S &I A 30, 000 10, 699 19, 301
- MM zomaoin 1, 280, 964 211,684 1,069, 280
HEIEBITAZ(D) 104, 283, 964| 103, 747, 809 536, 155

ij NEE S 67, 438, 860| 62, 818,820 4, 620, 040
. EEET 13, 410, 000| 10,976,688 2, 433, 312
- %%ﬁ%%ﬁtﬂ 7,236, 164 5,906, 154| 1,330,010
Z DO ZH 1, 003, 000 981, 885 21, 115

= HEEB M (2) 89, 088, 024| 80, 683, 547| 8, 404, 477
s FEEHE SN ZEZH Q) =(1)-(2) 15, 195,940 23, 064, 262| A7, 868, 322
B R ememimesmazt @) 0 0 0
E 3 |EEH ERAG S 2,631,600 2,631,600 0
% W g izt 5) 2,631,600 2,631,600 0
Rl MisrsssiE 0sE%(6) = (4) - (5) A2, 631,600| A2,631,600 0
© | g [orEmEm A 317,088| 317,088 0
% Mz oteomEsm Azt (7) 317, 088 317, 088 0
Eﬂf & |[POIERES M 21, 700, 000| 21, 649, 807 50, 193
% H e oppoEsr it 8) 21,700, 000| 21, 649, 807 50, 193
”%Z % DM OTEBE SN (9)=(1)-(8) A21,382,912(A21,332,719]  AB0, 193
FREEH (10) z — 0
LHESINCEEER (1D =(3)+(6)+(9)-(10) A8,818,572|  A900,057| A7,918,515
BRI E e %R (12) 14, 147, 159 14, 147, 159 0
YR EIRE (1) +(12) 5,328,587 13,247, 102| A7,918,515




